[image: image1.jpg]


6


RDMOTO CZECH REPUBLIC



info@rdmoto.cz



www.rdmoto.cz


D2
Ducati Monster 600/625/695/750/800/900
900S/S2R/ S1000/ 2001-
	ID.
	Description
	Cat.N
	Qty

	1
	Steel nut M12
	X12/X2
	1

	2
	Dural.cylinder d=50mm
	285
	1

	3
	Steel bar M12(1,25)x370x30x30
	
	1


Fitting kit-left side:



Fitting kit-right side:
	ID.
	Description
	Kat.č
	Ks

	1
	Steel nut M12
	X12/X2
	1

	2
	Dural.cylinder d=50mm
	286
	1


Instruction to assembly :
1. Take out originál bolt M12 from frame.
2. Insert steel bar through the frame M12x370x1,25mm ID.3
3. Put on dural. cylinders (ID.2)- Langer in left.
4. Protector thighten by nut  M12 ID.1
Warning – use the glue of all thread. Medium strong.
[image: image2.jpg]


[image: image3.png]



1

